Received: 02/02/2017 Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC

Effective: February 18, 2012

New York PSC No. 4 – Local Exchange Service

Addendum 2

Leaf: 1

Revision: 0 Superseding Revision:

PRICE LIST

Section 2.0 - Rules and Regulations

1. Telephone Surcharges

Gross Revenue and MTA Tax Surcharges

A. Local Service:

1. <u>Gross Revenue Tax Surcharges</u>

Period	Services Provided For Resale*	IntraLATA Toll & RCP Service	All Other Services
7/1/2000 +	.3764%	2.8273%	2.9405%

2. <u>MTA Tax Surcharges</u>

Period	Services Provided For Resale*	IntraLATA Toll & RCP Service	All Other Services
10/1/98+	.1277%	.6890%	.73%

Received: 02/02/2017 Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC

Effective: February 18, 2012

New York PSC No. 4 – Local Exchange Service

 $Addendum\ 2$

Leaf: 2

Revision: 0 Superseding Revision:

PRICE LIST, (CONT'D.)

Section 2.0 Rules and Regulations

2.18.1 Dishonored Checks

Charge per Dishonored Check

\$25.00

D-----

Section 4.0 – Service Charges and Surcharges

4.1 Service Order and Change Charges

Line Connection Charge	Business
Primary Line	\$60.00
Secondary Line	\$60.00
Service Order Charge	
Moves/Adds/Changes	\$25.00

4.2 Premises Visit Charge

	Business
Installation Charge – 1 st Hour	\$120.00
Repair Charge – 1 st ½ Hour	\$91.00
Repair Charge – Each Add'l ½ Hour	\$46.00

4.3 Restoral Charge

	Business
Per occasion, per line:	\$40.00

Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC

Effective: March 4, 2017

New York PSC No. 4 – Local Exchange Service

Addendum 2

Leaf: 3

Revision: 1

Superseding Revision: 0

PRICE LIST, (CONT'D.)

Section 5.0 Local Exchange Service

Sectio	11 5.0	Local Exchange Sci vice	
5.1	Inbou	nd Calling Service	
	5.1.1	ICS Rate Plan 1	
		MRCs include the following:	
		VGE Transmission Facility charge, per VGE:	
		- Business End User's Designated Premises is located	
		one (1) mile or less from the Company's End Office	\$0.50
		- Business End User's Designated Premises is located	
		more than one (1) mile from the Company's End Office	ICB
		VGE Port charges, per VGE:	
		200-672 VGEs	\$3.75
		673-2016 VGEs	\$3.15
		2017-3360 VGEs	\$2.55
		3361-5476 VGEs	\$1.95
		5477+ VGEs	\$1.35
		<u>DID Telephone Number</u> charge, per DID telephone number:	\$0.10
		NRCs include the following:	
		Number Port-In charge, per telephone number ported in:	
		1-49 numbers	\$4.00
		50-199 numbers	\$1.00
		200+ numbers	\$0.50

Material previously located on this page now appears on Leaf 9 of this addendum.

(C)

Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC

Effective: March 4, 2017

New York PSC No. 4 – Local Exchange Service

Addendum 2

Leaf: 4

Revision: 0 Superseding Revision:

PRICE LIST, (CONT'D.)

Section 5.0 Local Exchange Service

5.1 Inbound Calling Service, (Cont'd.)

5.1.1 ICS Rate Plan 1, (Cont'd.)

ICS Rate Plan 1 – Illustrative Examples (MRCs only)

Illustrative examples of the application of ICS Rate Plan 1 MRCs are provided below.

Month 1: If a Business End User (which in this example is called "XYZ Corp."), whose Premises is located one (1) mile or less from the Company's End Office, orders ICS Rate Plan 1 and had a Billing Period Peak Usage of 1,000 simultaneous call paths and utilized 100 DID telephone numbers during the Month 1 billing period, XYZ Corp. would be billed as follows for Month 1:

	Quantity	Rate	Billed to XYZ Corp.
VGE Transmission Facility	1,000	\$0.50	\$500.00
VGE Port	1,000	\$3.15	\$3,150.00
DID Telephone Number	100	\$0.10	\$10.00
End User Access Service ("EUAS") (see Company's FCC Tariff)	1,000	\$0.75	\$750.00
Federal Universal Service Fee (see Company's FCC Tariff; % varies quarterly) (*)	N/A	17%	\$127.50
Total Tariffed Charges			\$4,537.50

(*) Other applicable fees, surcharges, taxes, etc. may also apply.

Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC Effective: March 4, 2017 New York PSC No. 4 – Local Exchange Service

Addendum 2

Leaf: 5

Revision: 0 Superseding Revision:

PRICE LIST, (CONT'D.)

Section 5.0 Local Exchange Service

5.1 Inbound Calling Service, (Cont'd.)

5.1.1 ICS Rate Plan 1, (Cont'd.)

ICS Rate Plan 1 – Illustrative Examples (MRCs only), (Cont'd.)

<u>Month 2:</u> If XYZ Corp. in Month 2 had a Billing Period Peak Usage of 1,200 simultaneous call paths and utilized 110 DID telephone numbers during the Month 2 billing period, XYZ Corp. would be billed as follows for Month 2:

	Quantity	Rate	Billed to XYZ Corp.
VGE Transmission Facility	1,200	\$0.50	\$600.00
VGE Port	1,200	\$3.15	\$3,780.00
DID Telephone Number	110	\$0.10	\$11.00
EUAS (see Company's FCC Tariff)	1,200	\$0.75	\$900.00
Federal Universal Service Fee (Federal Access Tariff; % varies quarterly) (*)	N/A	17%	\$153.00
Total Tariffed Charges			\$5,444.00

(*) Other applicable fees, surcharges, taxes, etc. may also apply.

Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC Effective: March 4, 2017 New York PSC No. 4 – Local Exchange Service

Addendum 2

Leaf: 6

Revision: 0 Superseding Revision:

PRICE LIST, (CONT'D.)

Section 5.0 Local Exchange Service

(N)

- 5.1 Inbound Calling Service, (Cont'd.)
 - 5.1.1 ICS Rate Plan 1, (Cont'd.)

ICS Rate Plan 1 – Illustrative Examples (MRCs only), (Cont'd.)

<u>Month 3:</u> If XYZ Corp. in Month 3 had a Billing Period Peak Usage of 800 simultaneous call paths and utilized 110 DID telephone numbers during the Month 3 billing period, XYZ Corp. would be billed as follows for Month 3:

	Quantity	Rate	Billed to XYZ Corp.
VGE Transmission Facility	800	\$0.50	\$400.00
VGE Port	800	\$3.15	\$2,520.00
DID Telephone Number	110	\$0.10	\$11.00
EUAS (see Company's FCC Tariff)	800	\$0.75	\$600.00
Federal Universal Service Fee (see Company's FCC Tariff; % varies quarterly) (*)	N/A	17%	\$102.00
Total Tariffed Charges			\$3,633.00

(*) Other applicable fees, surcharges, taxes, etc. may also apply.

| (N)

Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC

Effective: March 4, 2017

New York PSC No. 4 – Local Exchange Service

 $Addendum\ 2$

Leaf: 7

Revision: 0 Superseding Revision:

PRICE LIST, (CONT'D.)

Section 5.0 Local Exchange Service

5.1 Inbound Calling Service, (Cont'd.)

5.1.2 ICS Rate Plan 2

MRCs include the following:

ISDN PRI (or its functional equivalent) charge, per PRI arrangement:

- Business End User's Designated Premises is located one (1) mile or less from the Company's End Office

1-4 PRIs	\$140.00
5-8 PRIs	\$120.00
9+ PRIs	\$110.00

- Business End User's Designated Premises is located more than one (1) mile from the Company's End Office

1-4 PRIs	ICB
5-8 PRIs	ICB
9+ PRIs	ICB

DID Telephone Number charge,

Per DID telephone number:	\$0.25
TELDID GERMONE HUNDEL.	$\mathfrak{g}(0, \angle_{\bullet})$

Per DID telephone number (when ordering 20

or More DID Numbers): \$0.10

(X) - - - - - - - - - - - - - - X

Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC New York PSC No. 4 – Local Exchange Service

Effective: March 4, 2017 Addendum 2

Leaf: 8

Revision: 0

Superseding Revision:

PRICE LIST, (CONT'D.)

Section 5.0 Local Exchange Service

(N)

5.1 Inbound Calling Service, (Cont'd.)

5.1.2 ICS Rate Plan 2, (Cont'd.)

NRCs include the following:

ISDN PRI (or its functional equivalent) Installation charge, per PRI: \$100.00

Number Port-in charge, per number:

1-49 numbers \$4.00 50-199 numbers \$1.00 200+ numbers \$0.50

ICS Rate Plan 2 – Illustrative Example (MRCs only)

An illustrative example of the application of ICS Rate Plan 2 MRCs is provided below.

If a Business End User, whose Premises is located one (1) mile or less from the Company's End Office, orders 50 PRIs and 100 DID with ICS Rate Plan 2, the Business End User would

be billed as follows for the billing period:

			Billed to Business
	Quantity	Rate	End User
ISDN PRI (or its functional equivalent)	50	\$110.00	\$5,500.00
DID Telephone Number	100	\$0.10	\$10.00
EUAS (see Company's FCC Tariff)	50	\$20.00	\$1,000.00
Federal Universal Service Fee (see Company's FCC Tariff; % varies quarterly) (*)	N/A	17%	\$170.00
Total Tariffed Charges			\$ 6,680.00

(*) Other applicable fees, surcharges, taxes, etc. may also apply.

(N)

Received: 02/02/2017 Status:

Status: EFFECTIVE Effective Date: 03/04/2017

Wide Voice, LLC

Effective: March 4, 2017

New York PSC No. 4 – Local Exchange Service

Addendum 2

Leaf: 9

Revision: 0 Superseding Revision:

PRICE LIST, (CONT'D.)

Section 6.0 – Supplemental Charges 6.1 Critical Facilities Administration Service 6.1.4 A. Enhanced Design Layout Record (Circuit Layout Record) Per Circuit \$50.00 B. Hourly Charges Per Hour \$47.00 (M)

Material appearing on this page was previously located on Leaf 3 of this addendum.